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INPINL 13 void loop){ wiye S
#define INPIN2 13 int vall = digitalRead(INPINL); digitalWrite(ML, LOW);
#define INPIN3 13 int val2 = digitalRead(INPINZ); . .
#define INPING 13 int val3 = digitalRead(INPIN3); delay(10000);// x is time
#define LEDL 1 int val4 = digitalRead(INPINA); .

#define LED2 2 if ( vall == HIGH ) { // HIGH is incorrect “d( ‘“"?w“ HIE:n; ‘IH;QH"?G" is incorrect
#define LED3 3 digitallirite(LED, HIGH); Hottallrita(LED3, HIGH);
digitalNriteML, HIGH); digitallirite(ML, HIGH);
¥

#define LED4 4

#define E1 5 // motor 1 speed cise
#define ML 10 // motor 1 direction else
1 i . digitallirite(LED3, HIGH);
digitalirite(LEDL, HIGH); gttalkricetis, LOD;

void setup(){ digitalWrite(ML, LOW;
pintlodeCINPINL, INPUT);
pinblodeCINPINZ, INPUT); Gelay(10000);// x is time
pintlodeCINPING, INPUT); o
pirModeCINPINA, INPUT); if ( val2 = HIGH ) { // HIGH is incorrect i, afg‘:ﬂ:\v:t:éfgni {Hé é H;?““ s Hineneract
pinblode(LEDL, OUTPUTY; digitalWrite(LED2, HIGH); o el
pinMode(LEDZ, OUTPUT); digitallirite(Ml, HIGH); i ’

¥
delay(10000);// x is time

pinMode(LED3, OUTPUT); ¥ else
pinMode(LED4, OUTPUT); else { i
pirMode(ML, OUTPUT); digitallirite(LED2, HIGH); ::g:tzm:::g;i“‘[%“’*)
pinMode(EL, OUTPUT); digitalWrite(ML, LOW); ) > LOD;

, analogiirite(EL, 255);//speed o esin i delay(100003;/7 x is time
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